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Question Number : 1 Question Id : 2549896419 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The Maximize button changes to the , immediately after a window has been maximized in

Windows 10 OS.

Options :

1. #* Close button

2. % Minimize button
3. ¥ Maximize button

4. % Restore button

Question Number : 1 Question Id : 2549896419 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Windows 10 OS #, af$tst ol ARdfATsst axd g, ARgmTEst de 7 mrfazafa gt srar 8l

Options :

1. ¥ chello g



2. % #gfAASS I

3. ¥ Aqgfargs

b

4. ¥ AYER A

Question Number : 2 Question Id : 2549896650 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is a non-volatile memory?

Options :

1. * Random Access Memory
2. ¥ Read Only Memory

3. # Virtual Memory

4. # Cache Memory

Question Number : 2 Question Id : 2549896650 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
AfF & @ 9 W v qurh (A didesa) AR &2

Options :

1. # ISH Tepdd AHERY
2. ¢ 3e 3l AHRY
3. ¥ I3 AARY

4, % G AFRY



Question Number : 3 Question Id : 2549896848 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
To listen to the songs from your computer, you need to install a on your computer.

Options :

1. % sound card

2. ¥ network interface card
3. ¥ memory card

4. * PC card

Question Number : 3 Question Id : 2549896848 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
FYGER Y T A b AfQ Tk U hygex # ST hAT BT

Options:

1. ¥ O3S RS

2. % o SR BRS
3. ¥ 99 *RS

4. % PC &RS

Question Number : 4 Question Id : 2549896898 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MICR, C stands for:



Options :

1. ®* Code

2. % Colours
3. # Computer

4.+ Character

Question Number : 4 Question Id : 2549896898 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MICR ®, C &l JIUIU T 87?

Options :
1. ® Code (1)

2. % Colours (ehelzd)

3. # Computer (hIcR)

4. ¢ Character (3cheR)

Question Number : 5 Question Id : 2549896983 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following devices is used to capture an image (drawing or photo) so that it can be

stored on a computer?

Options :
1. ¥ Modem

2. # Software



3. % Scanner

4, # Keyboard

Question Number : 5 Question Id : 2549896983 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
IRt 3T (TfAR a7 Hiel) ol PR & VG A & IGa T T S PR i & AQ A | ¥ i SfaAgd a1 3wt
AT ST 872

Options:

1. % A1y

Question Number : 6 Question Id : 2549897236 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following feature in MS-Excel works like a text field where you can enter words and
phrases about what you want to do next and quickly get to features you want to use or actions

you want to perform?

Options :

1. % Formula bar
2. ¥ Name box
3. ¥ Tell me

4. * Quick access tool bar



Question Number : 6 Question Id : 2549897236 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Excel # AfaaaRafd # @ siH-dt gafan (wHeR) Geh Shec HielS ol avg ShH Sl & STal AT 39 IR 7 €@t
3R aTRTIRMT Sl &S o Hehd & hi HTT ST AT AT ITed & R id 3 afnaft (HHeRH) ohl TRIYd o Hehd &
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Options :
1. ¥ GIRHAT IR
2. % 37 SRy
3. ¥ ¢ Ht

4, % FHgfch Tendd Tl IR

Question Number : 7 Question Id : 2549897267 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In Linux, you can change your working directory using command followed by the path name

to which you want to move.

Options :
1. % usr
2. % Is
3.4 cd

4. % pwd

Question Number : 7 Question Id : 2549897267 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

dAfRed (Linux) H, 3T STgi STHT IT8d g 39 T Rl IUTNT ohid §U, SUHT IR STILehe} ohl S
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Options :
1. % usr
2. % Is
3.4 cd

4. % pwd

Question Number : 8 Question Id : 2549897515 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is the key combination to apply default paragraph style in an OpenOffice writer?

Options:

1. #® Ctrl+D

2. ¥ Ctrl+0 (Zero)
3. #® Ctrl+1

4., % Ctrl+D+P

Question Number : 8 Question Id : 2549897515 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
3T AR TZR # Sfthicle IR ET5el AN i h ATQ i hl-TRS MRChe I IUANT AT ST 872

Options :

1.



# Ctrl+D
2. ¢ Ctrl+0 (STRY)
3. % Ctrl+1

4. % Ctrl+D+P

Question Number : 9 Question Id : 2549897720 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which types of computers are NOT generally used to enter large amounts of text?

Options :

1. % Desktop computers
2. * Mini computers

3. * Personal Computer

4. ¥ Mobile Phones

Question Number : 9 Question Id : 2549897720 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
IS THYC FTYC A o MG JTHI: i GIhR h HUIERT T JUTNT gt AT SITAT 872

Options :

1. % 3Yeheld hugeR

2. % #fft ugeR

3. ¥ Tf3ft ehugex (Personal Computer)

4. + Hiarge %A (Mobile Phones)



Question Number : 10 Question Id : 2549898468 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which function returns the serial number of the current date and time in MS-Excel?

Options :

1. # DATE function
2. ¥ NOW function
3. ¥ TODAY function

4. % CURDATE function

Question Number : 10 Question Id : 2549898468 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

MS-Excel #, Sl- T herIH eRAHTH &fHich 3R T9T o1 dhHiah (serial number) 34T 8?

Options :

1. # DATE theht™
2. ¥ NOW thehs™
3. % TODAY thehg

4. ¥ CURDATE thenr™

Question Number : 11 Question Id : 2549898989 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following uses a method similar to that of the VCR for storing data?

Options:

1. ¥ Magnetic tape
2. * Video Disk

3. #* Digital tape

4. % Audio Disk

Question Number : 11 Question Id : 2549898989 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
AR 7 @ i ST SREN A & Aft FiRfterR o g afaf e Iuai sdr g2

Options:

1. ¢ AAcfa 2y
2. ® drefit e
3. ¥ sfoiike 2y

4. % sitehi sR@

Question Number : 12 Question Id : 25498923837 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
How many different types of colour toners are used in a laser printer?

Options:
1. * Two

2. % Three



3. % Four

4. % Five

Question Number : 12 Question Id : 25498923837 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
IR YRR & hfd= S1eTT-37eTiT YRR oh heR XY T SUINT AT STl 872

Options :
1.%
2. % a4
3. ¥ 9O

4. % U

Question Number : 13 Question Id : 25498929900 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a correct name of the 2D Barcode font?

Options :

1. = PDF417

2. * MaxiCode
3. * Data Matrix

4. % Codabar

Question Number : 13 Question Id : 25498929900 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
IAARafa & & ohlH 91 2D SRehlS BIAE T Hel AT gl 872

Options :

1. % PDF417

Question Number : 14 Question Id : 25498930404 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Groove of BD-R is modulated by:

Options:

1. #* tracking
2. % solomon
3. ¥ wobbling

4. % grooving

Question Number : 14 Question Id : 25498930404 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BD-R &1 TZd AR AlSYelc gidT 8|

Options :



1. ® Q&M (tracking)
2. % gewd (solomon)

3. ¢ gigafit (wobbling)

4. % Tgafi (grooving)

Question Number : 15 Question Id : 25498931025 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The first LCDs became commercially available in the late and were based on a light-

scattering effect known as the dynamic scattering model.

Options :

1. % 1950s
2. ¥ 1960s
3. # 1970s

4. % 1980s

Question Number : 15 Question Id : 25498931025 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

LCD ugel aR & IAARY # TNIR & ATY| F YIRIT YRR RO TRHTT TR SR o, S 7dffied ik
Higd e T4 A SIHT ST AT

Options :
1. ® 1950 o &2Teh

2. ¥ 1960 o 320k



3. ¥ 1970 & 3%

4. ¥ 1980 o ek

Question Number : 16 Question Id : 2549898720 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following networks provide access to consolidated, block-level data storage?

Options :
1.+ SAN
2. % PAN
3. * WAN

4. = LAN

Question Number : 16 Question Id : 2549898720 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
8T & T I AT Acach RG], Tellch diddl Sl HEIRST deh Ugd URaM ohdl 872

Options :
1. % SAN
2. * PAN
3. % WAN

4. % LAN

Question Number : 17 Question Id : 2549899506 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The bank's code number and cheque number printed on the cheques can be detected by a/an

reader.

Options :
1. % OCR
2. # smart card
3. ¥ MICR

4. * barcode

Question Number : 17 Question Id : 2549899506 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Jeh ek IR 1R RIS TEAT 3R ek TGAT hl STHRRI RIUA heA & g S AT IUANT AT ST

Options :
1. # OCR
2. % qHARE RS
3. ¥ MICR

4. % gR&IS

Question Number : 18 Question Id : 2549899516 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
LCD stands for

Options :



1. # Liquid Clean Display
2. * Liquid Clean Drive
3. #* Liquid Crystal Driver

4. ¢ Liquid Crystal Display

Question Number : 18 Question Id : 2549899516 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
LCD T qROTZH R &2

Options :

1. ¥ Liquid Clean Display (cifchafe aefi- SRUet)
2. ¥ Liquid Clean Drive (difchale et S184d)

3. ¥ Liquid Crystal Driver (aifehafe szf¥ieet S3eR)

4. Liquid Crystal Display (difthafs axfRieet sRuet)

Question Number : 19 Question Id : 25498910807 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which printer is most commonly used in aerospace engineering?

Options :

1. #* Dot matrix printer
2. * Laser jet printer
3. ¥ Inkjet printer

4. % 3D printer



Question Number : 19 Question Id : 25498910807 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
AR 7 @ R TR T STGNT T TR SofHfRA i oTre 22

Options:

1. % Sfe Aegiag R
2. ¥ ISR St iR

3. ¥ geholc IR

4. ¢ 3D RfR

Question Number : 20 Question Id : 25498911112 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
exists in packet switching networks.

Options :

1. # Time frame
2. ¥ Datagram
3. * Time Wrap

4. * Time Stamp

Question Number : 20 Question Id : 25498911112 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



e gaRift Aeere & Hise g &

Options :

1. ¥ 39 WA
2. v STRRM
3. ¥ iAW

4. ¥ T3A T

Question Number : 21 Question Id : 25498911217 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Granular noise occurs when:

Options:

1. # the step size is too small
2. ¥ the step size is too large
3. #* the bandwidth is too large

4. ¥ there is interference from the adjacent channel

Question Number : 21 Question Id : 25498911217 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
TR (Granular) TR & glar 82

Options :

1. ¥ 9 §2U IR dgd Biel gidl 8

2. ¥ 519 T2 AR Igd 987 eIl &



3. % g deafey agd ST gaT e

4, % Sq G ATeT & qgae gl @

Question Number : 22 Question Id : 25498913494 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Vector quantization and transform coding are examples of:

Options :
1. # pixel
2. #® pulse
3. * transmission

4. ¥ |ossy compression

Question Number : 22 Question Id : 25498913494 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

dhex Tdie IR 3R XTTHIRA HIShT ik IaTexvr 8?2

Options :

1. % ufhga

~

Question Number : 23 Question Id : 25498913789 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
is a type of malware that appear useful but in reality, damages the files.

Options :

1. * Worms

2. % Computer virus
3. ¥ Trojan horse

4. * Malware

Question Number : 23 Question Id : 25498913789 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Teh ST AeTaER & YU | URERITT BidT & eiehi=l aredd § ThISell hl SHST o adT &

Options:

1. % agm

2. ¥ YR IRRY
3. ¥ ST 5RA

4. % AARR

Question Number : 24 Question Id : 25498913853 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A cryptographic system based on Feistel cipher structure uses ______ algorithm for both encryption

and decryption.



Options :

1. ¥ the same
2. ® different
3. * multiple

4. #® huge

Question Number : 24 Question Id : 25498913853 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1.¥ A
2. % i
3. % &g

4. ¥ gfATer

Question Number : 25 Question Id : 25498918505 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Laser printers produce marks on paper by using a fine dust called

Options :
1. # reader

2. ¥ toner

3.



# sensor

4. % printer

Question Number : 25 Question Id : 25498918505 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
oR qRf&R ATHeh Hel- Yl Tl IUTNT hich ShiTel UR AR F-1d &

Options :
1. ¥ e
2. ¥ TR
3. ¥ W

4. % qRf&R

N

Question Number : 26 Question Id : 25498922707 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
USB is called a .

Options :

1. % Universal Serial Bus
2. * Unique Serial Bus

3. #* Universal Simple Bus

4. % Unique Simple Bus

Question Number : 26 Question Id : 25498922707 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
USB hT qRUTZH <Rl &7

Options :

1. ¢ Universal Serial Bus (FfaR&e @Rk« o149)
2. ¥ Unique Serial Bus (ZAfeh ¥R =9)

3. ¥ Universal Simple Bus (ZAfazge aftd 59)

4. # Unique Simple Bus (g Gfter 9)

Question Number : 27 Question Id : 25498924005 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
The first screen that appears on the monitor is called the

Options :

1. % desktop

2. * application
3. ¥ window

4. % frame

Question Number : 27 Question Id : 25498924005 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
AR IR qReRIfd 817 aTef! Uget! HehelH T chgdld! g2

Options:



1. ¢ Sgehelq
2. ¥ QUeitene™
3. ® gfet

4. % o

Question Number : 28 Question Id : 25498924304 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What does NIC stands for?

Options :

1. # Network Identification Card
2. * Network Identified Client
3. ¥ Network Interface Card

4. % Network Identified Card

Question Number : 28 Question Id : 25498924304 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
NIC T qROTZH T &7

Options :
1. # Network Identification Card (Fa3eh HTZSeithiche™ HRS)
2. # Network Identified Client (caxdh TES-IthisS hellec)

3. ¥ Network Interface Card (Acaxeh 3hY HRI)



4. # Network Identified Card (AcaReh TEechEe HRE)

Question Number : 29 Question Id : 25498924490 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following has .doc file format?

Options :

1. # Microsoft Excel

2. ¥ Microsoft Word

3. # Microsoft PowerPoint

4. % Image Document

Question Number : 29 Question Id : 25498924490 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
FAFARafd & T HihT BEa BikAe .doc gt 8?2

Options :

1. % TTERYNIRE Yeh@el

2. ATSRIHTRE IS

3. ¥ HgeRRIEIthe UlaRuige

4. % 3OS Sigic

Question Number : 30 Question Id : 25498924586 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Which extension is used for Windows cursor file?

Options:
1. .cur
2. % .cursor
3. * .curr

4, # curs
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Options :
1.4 .cur
2. % .cursor
3. % .curr

4, = curs
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HTTP stands for:

Options :
1. % Hyper Text Transfer Protocol

2. * Hyper Tetra Transfer Protocol



3. ¥ Heavy Text Transfer Protocol

4. # Huge Text Transfer Protocol
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Options :
1. ¢ Hyper Text Transfer Protocol (g18UR ¢eh¥ie St URIcichic)

2. ¥ Hyper Tetra Transfer Protocol (§8tR ¢<XT XA TRIcIhla)

Y

3. ¥ Heavy Text Transfer Protocol (gt 3eh¥e T TRIctehla)

4. ¥ Huge Text Transfer Protocol (§g3T ¢eh¥c XAH URIciehldl)
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Google is an example of:

Options :

1. #® an antivirus

2. ¥ asearch engine

3. # aninternet browser

4. * the internet
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Google T T JSTERT 8
Options :
1. ¥ Uop UaRIRY ohl

2. ¥ G g5 &l

3. ¥ 3T RISOR Al

N

4, % 3aHe Pl
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In Google, operator is used to retrieve pages that include either word A or word B

Options :
1. % AND
2. ¥ OR

3. ¥ NOT

4. % NAND
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Options :
1. % AND
2. ¥ OR

3. % NOT

4. * NAND
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Which of the following is NOT a valid worksheet view in MS-Excel 2019?

Options:

1. # Normal view

2. * Page Layout view
3. ¥ Page Break view

4. + Section Break view
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Options :
1. % 9RAA Y,
2. % UST 113 Y

3. % g5 dfle a7,



4, & o b 9G
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Identify the case option which does exactly the opposite action of Capitalize Each Word in MS-

Word.

Options :

1. % Sentence
2. # UPPER
3. ¥ lower

4. ¥ tOGGLE
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Options :
1. % &g
2. % O
3. ¥ &SR

4., & T
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Which of the following types of section break is more suitable while working with columns in MS-

Word 2019?

Options :

1. * Next page
2. ¥ Continuous
3. * Even page

4, # 0Odd page
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Options:

1. ¥ dnge Uul
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In MS-Word 2019, the Add space before paragraph spacing can be measured in .

Options :



1. ¥ points
2. * millimeters
3. * inches

4, # centimetres
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Options :

1. ¢ UldcH

2. % gleftter

3. % g9

4, % AR
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In Ms-Word 2019, there is/are type(s) of markups under Show Markup command.

Options :

1.%1
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Options:
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When we rest the pointer on a comment in the MS-Word 2019 document, the comment appears in

a

Options :

1. % tab

2. ¥ ScreenTip
3. ¥ Window

4. % header
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Options :

1. ¥ &9

2. ¢ gepdA fu
3. ¥ gfel

4. ¥ g
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To edit the header and footer, which of the following tabs is used in MS-Word 2019?

Options:

1. # File

2. # Mailings
3. ¥ Insert

4. ¥ References
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Options :
1. % Thrgel

2. ¥ gafg



3. ¥ 3¢
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A communication channel is shared by all machines on the network in a:

Options :

1. ®* multicast network
2. ® unicast network
3. * single network

4. % broadcast network
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Options :
1. ¥ Aedihrye Aeah
2. ® AR AcaRE

3. ¥ Qohet Aeaieh

4. ¢ RSHIEL Ak
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Which of the following is a predesigned spreadsheet in MS-Excel, that can be used to create a new

workbook quickly?

Options :

1. * Pivot table

2. ¥ Template

3. ¥ Microsoft Account

4. * Ribbon
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Options :

1. ¥ urgale e

2. ¢yl

3. ¥ ARt 3RS

4. %
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The is the basic architecture used by most RPC-style middleware systems.

Options:
1. % CBA
2. # RTA
3. # WOA

4. ¥ SOA
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Options :
1. % CBA
2. * RTA
3. % WOA

4.« SOA
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In MS-Excel 2019, the Sort option is available under the tab.

Options :
1. % Data

2. * Formulas

3.



# File

4. % \iew
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Options :
1.¢ 3

2. % whigeT
3. ® tqrsd

4. % g
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In MS-Excel, enter value 0 into cell A1, value 1 into cell A2 and '=A1+A2" into cell A3. Clicking on the

lower right corner of cell A3 and dragging it down results in sequence.

Options:

1. * an arithmetic
2. ¥ a Fibonacci
3. * a geometric

4. % a harmonic
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Options :

1. ¥ gHIaR (arithmetic)
2. ¢ gadax (Fibonacci)

3. ¥ TUNdR (geometric)

4. ® gadHe% (harmonic)
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In an MS-Excel formula, the range of cells from E2 to E10 are denoted by .

Options :

1. % E2.E10
2. # E2..E10
3. ¥ E2:E10

4. % E2_E10
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Options :

1. * E2.E10
2. # E2..E10
3. ¥ E2:E10

4. % E2_E10
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If you press and hold down the Ctrl key and press the down arrow key, you are taken to the

in MS-Excel.

Options :

1. # column left

2. ¥ edge of the data range
3. ¥ next column right

4. #* rightmost column
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Options:

1. % RicH amai



2. & 3 I & hAR
3. # 37Tl TTU hicdH TR

4. % g g pidH IR
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is Microsoft's programming language for MS-Excel.

Options :
1.% C

2. % C#
3. % VB

4. ¥ VBA
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Options :
1.% C

2. % C#
3. % VB

4. ¥ VBA
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In MS-Excel, the function removes the duplicate spaces and spaces at the start and end of a

text string.

Options :
1. % MID
2. % ROUND
3. % TRIM

4. %= TRUNC
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Options:

1. % #fg (MID)

2. # 738 (ROUND)
3. ¥ XA (TRIM)

4. % & (TRUNC)
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We can allow specific users to edit certain ranges in a workbook or sheet in MS-Excel by using the

option under the Review tab.

Options :

1. % Accessibility
2. * Proofing

3. ®# Language

4. ¥ Protect
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Options :
1. ¥ gonggfafefd
2. ¥ HiT

3. # ohrdwt

N

4. ¥ ae
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The keyboard shortcut to undo the previous action in MS-Excel is

Options :

1. % Ctrl+ D



2. % Ctrl+ U
3. % Ctrl + X

4.+ Ctrl+ Z
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X

Options :

1. % Ctrl+D
2. % Ctrl+ U
3. % Ctrl + X

4. Ctrl+Z
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In MS-Excel, the “Toggle Breakpoint” is done from the menu.

Options :

1.+ Debug

2. * Design

3. ¥ Developer

4., * Run
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Question Id : 25498921271 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (53 to 57)

Read the given passage and answer the questions.

Once a man went to a shop and bought a pair of trousers. When he came home, he put the
trousers on. He found that they were too long for him. So he went to his wife and said, “Please
make my trousers shorter, they are too long for me, I cannot put them on.” But the wife said, “I

have no time now. I must wash the plates. It is late now, I shall do it tomorrow.”

The man went to his daughter and asked her, “Can you make my trousers shorter? I cannot put

them on.” “No, I cannot,” said the daughter. “I must do my lessons now. I shall do it tomorrow”.

The man went to his sister, but she could not help him. She said, “I must make my dress now. I

shall do it tomorrow”.

So the man went to bed and left his new trousers on a chair near his bed. His wife washed all the
plates, came into the room, took the trousers, made them shorter and put them back on the chair.
When his daughter finished doing her lessons, she came into his room, took the trousers and

made them shorter. Later in the evening, his sister came too and made the trousers shorter.

The man got up at 7 a.m. His wife told him, “I have made your trousers shorter; you can put them
on”. But when the man put them on, he saw that they were too short for him and he could not

wear them.

Sub questions
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The man could not wear his new trousers because they were too:



Options :
1. * tight
2. ¥ long
3. #* short

4. % |oose
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Match the family member with the activities they were busy with when the man asked for their help.

Family member | Activity

a. Wife 1. Doing lessons
b. Sister il. Washing plates
c. Daughter ill. Stitching dress

Options :

1. % a-i, b-iii, c-ii

2. ¥ a-ii, b-iii, c-i

3. % a-iii, b-ii, c-i

4. % a-ii, b-i, c-iii
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The given activities by the man’s wife are not in proper order. Identify the option that arranges

these activities in the correct order.

a. She took the trousers.



b. She washed the plates.
c. She came into the room.
d. She put them on the chair.

e. She shortened them.

Options :

1. % a,e,d, b, c
2. % Db,cead
3.%caeb,d

4. ¥ Db,c, a, e d
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All the three women did what the man had asked them to do as soon as they found time. This

shows that they were all very:

Options :

1. ¥ Responsible
2. ¥ Obedient

3. * Hard Working

4. % Sensible
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Finally, the man could:

Options:



1. # wear his trousers as they were shortened
2. * wear the trousers after his wife had mended them
3. ¥ not wear the trousers as they had become too short

4. # not wear the trousers as they were too long

Question Id : 25498921271 Question Type : COMPREHENSION Sub Question Shuffling Allowed
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Question Numbers : (53 to 57)
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:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
B4 @ SHRUT ATGHT 37U T8 Udlcl a1 Ug- TenT|

Options :
1. ® g
2. ¥ e
3. % B¢

4. % &

Question Number : 54 Question Id : 25498921273 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
39 afcheTd T T chlallQ ST, il # IRfAR & Gt 3R I7ch GaRT ht 54 arelt Tafafafdt st grefda axa
<R mar 8l

RIAR & T Tafafafai

a. uaHT i, 37T OTS e g ot
b. 58 ii. SR oY gt oY

c. a& iii. €39 a1 @1 ot
Options :

1. % ai; biii; cii

2.9 aii: biii; ci

3. % aiii; bii; ci

4. % aii; b I ciii



Question Number : 55 Question Id : 25498921274 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

1 et At U SaRT @t 13 TafafAfdt bt srqgaqUta axE 7 <R mar g1 afdherat # & 39 mafafafit & quagufa
HTH T TIF eI |

It U =

a. gdelA dIrr

b. S ot &iaT

C. FHR H 318

d. U hl HTH UR @ SR

e. UdelHl hl ®ier & &Rt

Options :

1.% aedbc
2. % pbcead
3.%#caebd

4. ¥ pbcaed

Question Number : 56 Question Id : 25498921275 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ SifAER



Question Number : 57 Question Id : 25498921276 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. % 31U Udel i UG Tl AT 3-Ig BIel & ST 7T T

2. ¥ IGh! U GaRT Uded BIT A h dTE Udcld Ug Hehl

3. ¥ Udel UgH e Hehl chdichl Udeld Sigd B¢ 81 1Y &

4. % Tl UgH el Hehl chaTohl Helel Sgd o &
QUANTITATIVE APTITUDE
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Is Section Default? : null

Question Number : 58 Question Id : 25498928841 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

What should come in place of the question mark (?) in the following?
[{6561 + (10.8 x2.3)} +3] =7

Options :

1. % 27

2. % 54

3. % 72

4. v 81

Question Number : 58 Question Id : 25498928841 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
FARafa & WRE afg (?) o U uR T 3771 918ie?

[{6561 + (10.8 x 2.3)} + 3] =7

Options :
1. % 27
2. % 54
3.% 72

4.+ 81



Question Number : 59 Question Id : 25498928860 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What approximate value will come in place of question mark (?) in the following questions?
(You are not expected to calculate the exact value)

29.8% of 260 + 60.01% of 510 — 103.57 =7

Options :
1. % 450
2. % 320
3. % 210

4.+ 280

Question Number : 59 Question Id : 25498928860 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

farfe e wer # 9o PR (?) & TR W FATRT A 0 3 g0 (3T T A A
T G F 8

260 @1 29.8% + 510 %7 60.01% - 103.57 = ?

Options :

| % 450

5 % 320

3 % 210

4 v 280



Question Number : 60 Question Id : 25498928925 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A 476-metre-long moving train crosses a pole in 14 seconds. The length of a platform is equal to
the distance covered by the train in 20 seconds. A man crosses the same platform in 7 minutes

and 5 seconds. What is the speed of the man (in metre/second)?

Options :
1. % 1.8
2. % 1.4
3.¥1.6

4. % 2

Question Number : 60 Question Id : 25498928925 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

W 476 FeT T T 35 YA OF T A 14 o A A A | ewn B s
TN 20 ¥ A 79 N 7 g & TH ¢ T A 30 e F 7 A 35 WS A W R
o 81 eH #1 A AevseE & Fw 7

Options :

1.% 1.8
2.% 14
3.¥ 1.6

4. % 2

Question Number : 61 Question Id : 25498929108 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Reena scored 80, 85, 65, 50 and 90 marks in five different subjects. What is her average score for

all the five subjects?

Options :
1. % 70
2. %71
3. % 72

4. ¥ 74

Question Number : 61 Question Id : 25498929108 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A1 A Ui 37erT-31elT afvat # 80, 85, 65, 50 3R 90 3ich WIud i Gt ula afvat & Igent sitad 3ich aT 82

Options:

1 % 70

> % 71

3 % 72

4. v 74

Question Number : 62 Question Id : 25498929424 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Two numbers are such that 4 times the greater number added to 5 times the smaller number is
119. If 3 times the smaller number is 47 less than 5 times the greater number, then difference of

their squares is:

Options :
1.% 72

2. % 128
3.% 135

4. % 142

Question Number : 62 Question Id : 25498929424 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
3 Ty At & S 4 7T S TRa@T bl 5 AT SN WRegdm F sive W 119 qRYF ghar g1 wef 3 A S} da@n
IS! TG & 5 AT & 47 A 8, d I7h a1 ol IR HAT 87

Options :
1.% 72

2. % 128
3.+ 135

4. % 142

Question Number : 63 Question Id : 25498929535 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

If the selling price of an article is doubled, then its loss percentage is changed to an equal profit



percentage. The loss percentage on the article is:
Options:

632W
3 /0

1_2;5
. 60%

3 % 50%

4. '\J/ 3

Question Number : 63 Question Id : 25498929535 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

% Tt axg a7 fosht 7o g o <en ¢, s @ i o ey o & age
¢ 36 W g S & gem?

Options :

632‘}’
1.% 37

, s« 60%

5 % 50%

1
0
4 333 Y0
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Question Number : 64 Question Id : 25498910141 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the third word in the same way as the second word is related to

the first word.

Annihilation : Fire :: Cataclysm :?

Options:

1. # Earthquake



2. ¥ Flood
3. * Emergency

4, # Steam

Question Number : 64 Question Id : 25498910141 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
39 afcherd T T htailg ST IR 2ree F I AR el @ ST qZehR gERT 6 U Uee 4 daufd g

afarer ; omT : : et

Options:
1. # oy
2. ¥ d1g
3. # JAMUTdhlc

4. ® quyg

[N

Question Number : 65 Question Id : 25498912908 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

If the given alphabet is written in reverse order, which of the following will be the fifth letter to the

left of the ninth letter from the right?

ABCDEFGHIJKLMNOPQRSTUVWXYZ

Options :

1.% P

2.



Question Number : 65 Question Id : 25498912908 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
g+ &t 75 SRSH aRUMHTAT oh STIehyd ohl Iae AT MY, af 31U & Ad SR™R & 1¢ igdi St A afcheral #
Y &I 1 ghm?

ABCDEFGHIJKLMNOPQRSTUVWXYZ

Options :

Question Number : 66 Question Id : 25498919016 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Select the word from the options that is similar to the given set of words in a certain manner, and

is therefore a part of the group.

Hokkaido : Honshu : Shikoku

Options :

1. # Madagascar



2. ¥ Kyushu
3. * Shanghai

4. # Sikiang

Question Number : 66 Question Id : 25498919016 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AT IR | Ri 7 HRif U F wywR Feufa di5 weg A 2f 7T €1 37 yeal & HE HeY 9IS e dTet G h
TG gfeherdt & T ARSI

gieenrss! (Hokkaido) : 8131 (Honshu) : «1fehie (Shikoku)

Options :

1. ¥ #Srmge (Madagascar)
2. ¢ &g (Kyushu)

3. # si=1g (Shanghai)

4. % gfeRAmT (Sikiang)

Question Number : 67 Question Id : 25498919851 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner, while the fourth one is

different. Select the word that is different.

Options :
1. # Rigveda

2. * Yajurveda



3. % Atharvaveda

4. ¥ Ayurveda

Question Number : 67 Question Id : 25498919851 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : 0 Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

gfcherul # & IR 219G &fQ 77T & SIAH & 9 it 30 & e # Gi1a € STeehf Serehl this Teh ST 81 39 &
LS 1 T IS

Options:

1. ¥ g

2. % goRde

3. ¥ 3eRgdS

4. ¢ IS

Question Number : 68 Question Id : 25498939934 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In the following question, two statements P and Q are given. Look into their logical acceptability
and mark your answer:
P: All A’'s are B's. All B's are A's. Some C's are B's. Therefore some C's are A's.

Q: All A's are B's. Some B's are C's. Therefore all A’'s are C's.

Options :
1. # Both statements P and Q are true.
2. ¥ Statement P is correct and statement Q is wrong or doubtful.

3. ¥ Statement P is wrong or doubtful and statement Q is correct.



4. # Both statements P and Q are wrong or doubtful.

Question Number : 68 Question Id : 25498939934 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
IeRafd IReE /, @ &y P 3R Q 3t 7Y &1 It dRerfeh GelterRadT &t 3 §U 10T IR I |

1N

P:atA Bl aiB, Ag1 &5 C, BElgHat ¢ C, Agl
Q: G+t A B2l B, Cglsuat a+t A C 2l

Options :

1. ¥ P 3R Q &l @gl 81

2. v P Hgl g 3R Q TTeTd AT G |
3. ¥ P IeTd YT GMATGH & 3R Q Hal g

4. ® P 3R Q Tt TeAd 37T HWATIHS & |

Question Number : 69 Question Id : 25498940039 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Four pairs of words have been given, out of which three are alike in some manner and one is

different. Select the word-pair that is different.

Options :

1. ®# Mulder : Protein

2. % Curie : Radium

3. #* Becquerel : Radioactivity

4. % Einstein : Television



Question Number : 69 Question Id : 25498940039 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
el & IR SIS &Y MY &, S & fiH il avg & GHH 8 3R Teh 31eTT &1 I AIE-GIH T T3 e St |7

Options:

1. ® Ao RIEA

2. % gl 3efiH

3. ¥ doheet : JeRtgenefafdt

4. & AAHE : eftafsH
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Section type : Online
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Section Marks : 6
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Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897658

Question Shuffling Allowed : Yes



Is Section Default? : null

Question Number : 70 Question Id : 2549895983 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Who among the following led the attack on the European Club at Pahartali in Chittagong?

Options :

1. ¢ Pritilata Waddedar
2. % Surya Sen

3. #* Anant Singh

4. * Loknath Bal

Question Number : 70 Question Id : 2549895983 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TG o UgTSdTet! # GIURIA heldl UR §Hel hl AJdd ohiv- hidT oT?

Options :

1. ¢ gaferdr arder
2. % g@n o

3. ¥ 3id afg

4. % AR a1

Question Number : 71 Question Id : 2549899662 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Where is the Rail-wheel factory situated?

Options:

1. #* Srirangapatna
2. #* Kalaburagi

3. * Hampi

4. ¥ Yelahanka

Question Number : 71 Question Id : 2549899662 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
3T o UgRY ohl SR gl 9Ufd 82

Options :

1. ¥ RO

2. % hrerealt
3. % gHdt

4. & JgTenT

Question Number : 72 Question Id : 25498912555 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The rapidly growing mass of phytoplankton covering the surface water of a lake or pond is known

as:

Options :

1. * Water Pollution



2. ¥ Water Hyacinth
3. ¢ Eutrophication

4. % Water Bloom

Question Number : 72 Question Id : 25498912555 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
et STraT aTeTTe o Tdg! STot U= MERdT & TSt TEgaT # 37 dTet WIseIYeiche ohl hed 5

Options :

1. ¥ S qRgyoT

2. ¥ SieT et

3. ¢ gUIvUT (Gethichar)

4. % ST TREGEA

Question Number : 73 Question Id : 25498922826 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is a connecting link between animal and plant?

Options :

1. * Amoeba

2. ¥ Euglena

3. # Plasmodium

4. % Paramecium



Question Number : 73 Question Id : 25498922826 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
IAFARafd & & i 1 e 3R Uie & o9 @t Fel 82

Options :

1. % 3rfiaT (Amoeba)

2. ¢ gt (Euglena)

3. ¥ yamgwHsifT (Plasmodium)

LN

4. % tRyefierfay (Paramecium)

Question Number : 74 Question Id : 25498932125 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Match List-I (Person) with List-II (Associated Information).

List-I List-II

(a) GK Gokhale 1. Servants of India society

(b) MM Malaviya 2. Banaras Hindu university

(c) C Rajagopalacharif3. Free India society

(d) VV Savarkar 4, Swatantra Party

Options :

1.¥a-1,b-2,c-4,d-3

2.%a-3,b-4,c-2,d-1

3.%a3a-1,b-4c-2,d-3

4. % 9-3,b-2,c-4,d-1



Question Number : 74 Question Id : 25498932125 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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(d) iRt R [|4. adax aRe

Options :

1.¥a-1,b-2,c-4,d-3
2.%*a-3,b-4,c-2,d-1
3.¥a-1,b-4,c-2,d-3

4, % a-3,b-2,c-4,d-1

Question Number : 75 Question Id : 25498932607 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is stated as Directive Principles of State Policy by Article 51 of the

Constitution of India?

The state shall endeavour to:

1. Promote international peace and security.



2. Maintain just and honourable relations between nations.

3. Encourage settlement of international disputes by arbitration.
Options :

1. % Both 1 and 2

2. * Both 1and 3

3. % Both2and3

4. 1,2and 3

Question Number : 75 Question Id : 25498932607 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 1 3k 2+t

2. % 1 3R3 At

3. % 2 3fR 3+t

4.4 1,233
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Is Section Default? : Yes

Question Number : 76 Question Id : 25498940809 Question Type : TYPING TEST Display

Question Number : Yes Calculator : None

Summer camps are supervised camps conducted to entertain as well as equip students with
various life skills such as teamwork, socializing, decision making, independent and
responsible living and more. It aids the overall development of a child and children have fun

during this process as they get to explore new arenas.
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Question Number : 77 Question Id : 25498941461 Question Type : TYPING TEST Display

Question Number : Yes Calculator : None

The world has been devastated by two world wars and recurring bouts of disease and
devastation. Amid such tremendous hardship human beings have depicted resilience and
kindness to fight back and help each other. Kindness is an essential and universal quality
that is based on the concepts of altruism and prosocial behaviour. Kindness towards others
and yourself is crucial in the journey of personal growth and achievement. Kindness can be
described as the value of being compassionate and thoughtful. Unconditional love and
tenderness are some words that are associated with kindness. Although kindness has an
undertone that someone is innocent or vulnerable that is not the case. Being compassionate

also calls for bravery and determination. Compassion is an interactive ability. An individual



with a generous temperament and respect towards everyone is considered to be kind. They
support others around them and they never fail to go out of their way to put joy on the face
of others. People have heard about the survival of the fittest theory given by evolutionary
theorists. Darwin who researched human nature did not necessarily perceive humans as
being physically aggressive. Darwin claimed that we are a fundamentally collaborative and
loving community. He asserted that affection and compassion for others is natural and
reflexive. Kindness is not a core value to be embraced or shown in particular situations.
Instead it should be absorbed as the fundamental behavioural element of living creatures.
Compassion is not only a moral attribute. But in all aspects of existence it can be quite well
adapted. Kindness could be something as tiny as being courteous and providing someone
support and encouragement. It could be something as surprisingly small as passing a kind
word to someone or giving a little bit of food to the stray dog who comes nearby your house.
These gestures of kindness do not take a lot of time but they can create a change. Acts of
kindness can help in creating a beautiful and sustainable world. Only small considerations
and selfless acts of kindness can help to build up a successful company. As has been said
previously every human person knows the language of compassion. While important
kindness is not a characteristic that is widely seen in people these days. In present times
people have become incredibly self absorbed. All they can talk about is themselves. Growing
rivalry at various points of our lives is one reason why people turn out to be this way.
Everyone around here is busy making themselves successful and showing the world how
better their lives are compared to lives of others. They do not hesitate to offend those in
their way to reach everything they want. There is nothing wrong with innovating but should
realize that there is a lot more to life than competition and winning. Presently although
most people do not have the trait of compassion it can be integrated into them with a slight
endeavour. This can be achieved by explaining the value of it from the very start. Workshops
must be held to teach students why it is necessary to be kind to human beings. This topic
must be an integral part of the curriculum in schools. It is important to stress its

significance from the very beginning so that citizens can appreciate and teach it.
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